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Quadratic Function — Review |

1. Fill in the blanks:

(i) p
a) Every equation of a quadratic function has to contain term of the form ;@{“ A
N

exponent of ol has to be the greatest exponent if the equation.
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b) The graph of every quadratic function is called __“L+ “%1
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c) Every graph ofa quadratlc function has the following features
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of symmetry with the equation of the form: A= #H-
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o - intercept of the form:

g . {15
o Ené behaviour of two possible types: opens __{L.{ Al »~ or opens Ué
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d) Every graph of a quadratic function has at most x-intercepts. Some graphs have
S\f‘ WL ) j x-intercept and some have no x-intercept. -

e) The original graph of a quadratic function has the equation: F’-»? l )c and contains
these seven points: v

f) The original graph of a quadratic function can undergo several types of transformations:
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o M HE in 7(/ -axis will result in a graph that opens (//%,{*fj’ Wi

o H (1) ffgﬁ P '«"“5‘7—; translation (777 @’5 ) will result in a graph that has a vertex moved
either to the 1 "51’ or to the ,Z«—r’

o) ./‘3’ 4 translation ( VT ) will result in a graph that has a vertex moved
either i/L ﬁ or “" oJw

o Verh ‘"f«”':/}’ stretch compression ( Vs C ) will result in a graph that is

vl than the original graph.
o ¢ h ¢ stretch expansion ( Eﬁig ég'm ) will result in a graph that is

" __than the original graph.
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2. Graph the original parabola: 1 \?f
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3. Identify what transformations are represented b Ietters/symbpls in the vertex form of the
quadratic equation: 3
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4. Graphy = —x? + 9 and describe the graph. At least 5 points have to be exact.
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6. Graph y = —(x — 5)% and describe the graph. At least 5 points have to be exact.
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7. Graphy = —(x + 2)? + 4 and describe the graph. At least 5 points have to be exact
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8. Graph y = —x? — 3 and describe the graph. At least 5 points have to be exact.
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9. Graphy =-(x — 1)? + 9 and describe the graph. At least 5 points have to be exact.
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10. Conclusion:

a)

d)

f)

g)

When the original graph undergoes a reflection in the x-axis, a y-coordinate of any point on the
new graph is either 5:) or ME“\,&?@ fi v

V
If the original graph undergoes a reflection in the x-axis, then the transformed graph opens
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If the original graph undergoes a reflection in the x-axis, then the transformed graph has a

maximum value. This value is the same as the % - coordinate of the [/[f f{f ,{

]

If the original graph does not undergo a reflection in the x-axis, then the graph opens [/{.ZQ ,

and has a ﬁ/(/{,‘?«(, il value. This value is the same as the L’k - coordinate
ofthe  Veréx

Every graph of a quadratic function has an axis of symmetry with an equation . /f ;
x = areal number. This number is the same as the Zg - coordinate of the Vel "{ .
The value of maximum or minimum is affected by 2 transformations
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have no effect on the value of the minimum or maximum.




